SIX TOOTHPICKS LOGIC PROBLEM

Give each group 6 toothpicks of equal length.

Their goal is to use the 6 toothpicks to form 4 equilateral triangles. 

Each triangle must have a side length equal to one toothpick.

Groups should work secretly and hide what they are doing from other groups.

If groups are stuck then various levels of hints can be given.

 ( “Think of the Egyptians.” is a hint that does not immediately give the solution away. 

A more obvious hint is, “Think 3-dimensionally.” )

The solution … make an equilateral triangle as the base of a pyramid. Then use the remaining 3 toothpicks to make a pyramid.
